MBI RPL SR R A RS R RN ER AT (BNERRND

W B 3 BRI AL B E L:¥A BmfE e B R
Tk mg/| 0.03 - IEFR
SRR mg/l ND 0.3 PN 7
=EY mg/l 8 60 o 7
B - R TH A T A7) mg/| 0.12 5 $oY 713
HHEAL TR mg/| 3.8 20 By 78
PSR ES mg/| 0.12 5 $oY 73
ENFEY I mg/| 0.17 10 bR
2019/12/24 A P K A E R e mo” NP 05 b
Ry mg/| ND 0.3 bR
AL mg/| 0.16 10 $oY 73
W2 T mg/| 19 90 bR
A mg/l 0.038 10 8%y i
phfd - 7.32 6-9 $EY )
SV mg/| ND 0.5 EbR
=2 mgl/l 0.1 2 B kR
A mg/| ND 2 Py 73
BT mg/| 16 400 $EY N
B 5 T P ) mg/| ND 20 Py 73
HHARFE A= mg/| 9.9 300 $EY N
2019/12/24 AV K AR ER S HE b2 T mg/l 50 500 i 7
VAR mg/| 0.32 20 $EY N
ELEEY MBS mg/| 0.74 100 By 73
ph{# - 8.24 6-9 kAR
2019/12/24 ~§HE)&T§T£’%%¥;§EH§MU M (FQ- 5 mg/m? 0.56 ) BhF
2019/12/24 — MR P R S AR EE S A D (FQ- FHE mg/m3 0.39 100 Wb
02) BmE mg/m? 0.54 35 EbR




2019/12/24 Y HE IEHL B A B i 1 A mg/m? 02 100 & b5
(FQ-03) S mg/m3 0.82 35 PEY N

2019/12/24 Wﬁ%wﬂﬂ?ﬁjﬁ\bﬁﬁ ) kLA mg/m? <20 120 ek
2019/12/24 2 R R e R A W 1 A mg/m? 0.89 100 b
(FQ-06) G mg/m3 0.57 35 PEY N

2019/12/24 A A AL B W T A mg/m? 0.24 100 & b5
(FQ-07) A% mg/m? 0.38 35 whr

WKL mg/m? 5.3 20 o 7

2019/12/24 2. Ot/hﬂk( . ;%Oﬁg)ﬁ%” S — AR mg/m3 ND 50 EAF
BEMN mg/m? 104 150 o 7

RiA] F4hm I 7 Leq dB (A) 56.4 60 LR

019/12/24 R4 FHhm I Leq dB (A) 56.9 60 KR
UL A Am B Leq dB (A 57.5 60 B kE

Jbia) 4 m I Leq dB (A) 56.7 60 PN




